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Opgave c031 - løsning

a)
Løsning:

void
CxRegnemaskine::Facultet
(void)

{


for ( int i (R-1) ; i > 1 ; --i )



R = R * i;


D = R;


State = Ready;

}

b)
Løsning:

void
CxRegnemaskine::SquareRoot
(void)

{


// Precondition:  R >= 0


// Postcondition:  R = nærmeste heltalsrod (nedrundet) af oprindelig R


long
Min ( 0 );


long
Max ( R );


int sqrR ( (Max + Min) / 2 );


while ( Max > Min )


{



if ( sqrR*sqrR > R )




Max = sqrR - 1;



else




Min = sqrR;


sqrR =  (Max + Min) / 2 ;


}


R = sqrR;

}
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